
Supreme 
Assembly Guide

Assembly Parts Hardware Parts

D. Seat Mechanism x 1

J. Armrest Hardware Set x 6

I. Backrest Hardware Set x 3
M8*20 M8

M6*25

M6*40

M6*15*1.5

M8*16*1.5

K. Seat Mechanism Hardware x 4

Hex Key x 1

C. Gas Lift x 1

H. Neckrest x 1

E. Seat x 1

B. Wheel x 5A. Base x 1

M6

M6*15*1.5M6

H

G

F

D

B

E

C

A

F. Armrest x 2
   (Left + Right) 

G. Backrest x 1

M6*20

Neckrest 
Hardware

x 2L.

Tip: Use the package box 
to prop seat up for easier 

handling and installation.

Tip: Use the package box 
to prop seat up for easier 

handling and installation.

E

D

K

FRONT OF SEAT

1. Align wheel(B) to each leg and press �rmly 
into base(A). Fit gas lift(C) into base. 

2. Align armrests(F) to bottom of seat(E) and 
secure with armrest hardware(J). Ensure arm-
rest indicated “L” and “R” are matched and in-
stalled to left and right of seat.

3. Align seat mechanism(D) to the �rst holes 
from front of seat(E) and secure with seat 
mechanism hardware(K).

A

E F

F

C

B

5.  Align the opening on the seat mechanism 
(D) onto the gas lift (C), and hold it down 
�rmly till tight. This step is easier completed 
with two people.

C

D

J

18
0

cm
+*

18
0

cm
+

*For users taller than 
180cm, secure seat 

mechanism (D) to the 
holes marked with 

180cm+ sticker instead.

6. Secure neckrest(H) to backrest(G) with the 
neckrest hardware(L) and hex key. 

G

L

H

4. Fit the backrest(G) onto the bottom of 
seat(E). Loosely install backrest hardware (I), 
then ensure that backrest is properly aligned 
with the seat mechanism (D) before fully 
fastening the backrest hardware.

G

I

E

D

Tip: Use the package box to 
prop the seat up for easier 
handling and installation.

Tip: Use protective foam 
blocks included inside the 
packaging to prop up the 

backrest.

This chair is designed to seat one person at any 
one time. Do not stand on this product or use it 
as a step ladder. 

Do not use this product unless all bolts and parts 
are �rmly tightened. 

Check regularly that all bolts and fastenings are 
properly tightened and retighten when 
necessary.

Do not use if any parts are missing, damaged or 
worn.

Do not sit on the armrests.

Adult supervision is advised when used for 
children under the age of 10. 

1.

2.

3.

4.

5.

6.

Failure to follow these instructions 
may result in serious injury.

WARNING! 

Assembly Video:

Scan the QR Code to 
access our step-by-step 

assembly video.

supreme
assembly

User Guide:

Scan the QR Code to 
access our user guides.

user guide

V6.1_021221



D. Seat Mechanism x 1

J. Armrest Hardware Set x 6

I. Backrest Hardware Set x 3
M8*20 M8

M6*25

M6*40

M6*15*1.5

M8*16*1.5

C. Gas Lift x 1

G. Backrest x 1

E. Seat x 1

B. Wheel x 5A. Base x 1

M6

M6*15*1.5M6

F. Armrest x 2
   (Left + Right) 

Hex Key x 1

Assembly Parts Hardware Parts

G

F

D

B

E

C

A

K. Seat Mechanism Hardware x 4

V6.1_021221

Classic
Assembly Guide

Tip: Use the package box 
to prop seat up for easier 

handling and installation.

Tip: Use the package box 
to prop seat up for easier 

handling and installation.

E

D

K

FRONT OF SEAT

1. Align wheel(B) to each leg and press �rmly 
into base(A). Fit gas lift(C) into base. 

2. Align armrests(F) to bottom of seat(E) and 
secure with armrest hardware(J). Ensure arm-
rest indicated “L” and “R” are matched and in-
stalled to left and right of seat.

3. Align seat mechanism(D) to the �rst holes 
from front of seat(E) and secure with seat 
mechanism hardware(K).

A

E F

F

C

B

5.  Align the opening on the seat mechanism 
(D) onto the gas lift (C), and hold it down 
�rmly till tight. This step is easier completed 
with two people.

C

D

J

18
0

cm
+*

18
0

cm
+

*For users taller than 
180cm, secure seat 

mechanism (D) to the 
holes marked with 

180cm+ sticker instead.

4. Fit the backrest(G) onto the bottom of 
seat(E). Loosely install backrest hardware (I), 
then ensure that backrest is properly aligned 
with the seat mechanism (D) before fully 
fastening the backrest hardware.

G

I

E

D

Tip: Use the package box to 
prop the seat up for easier 
handling and installation.

Tip: Use protective foam 
blocks included inside the 
packaging to prop up the 

backrest.

This chair is designed to seat one person at any 
one time. Do not stand on this product or use it 
as a step ladder. 

Do not use this product unless all bolts and parts 
are �rmly tightened. 

Check regularly that all bolts and fastenings are 
properly tightened and retighten when 
necessary.

Do not use if any parts are missing, damaged or 
worn.

Do not sit on the armrests.

Adult supervision is advised when used for 
children under the age of 10. 

1.

2.

3.

4.

5.

6.

Failure to follow these instructions 
may result in serious injury.

WARNING! 

Assembly Video:

Scan the QR Code to 
access our step-by-step 

assembly video.

supreme
assembly

User Guide:

Scan the QR Code to 
access our user guides.

user guide


